
1

EDITION 01 - MAY 2023

TEMPORARY 
      COLUMN 
FIXING EFT



2



The EDILMATIC EFT system is a rational safe and simple solution for a temporary fi xing during 
the necessary correct plumbing of pre-cast columns as well as other pre-cast elements.

The system allows to fi x the pre-cast column to the foundation while the rest of the concrete is 
poured, avoiding additional prop-up systems. 

Each connection is composed of:
- Column side insert – standard Edilmatic anchoring plate;
- Foundation side insert (bolt), constituted by a standard rebar;
- Reusable EFT bracket element;
- Fixing bolts and accessories, reusable.

EDILMATIC EFT
INTRODUCTION

Anchoring Plate

EFT Bracket

3



4

In 2017 Edilmatic obtains the EN 1090-1 certifi cation. The UNI EN 1090-1 regulation is a harmonized 

regulation complying with the requirements of the CE marking, following the EU Regulation n. 

305/2011 (CPR, Construction Products Regulation). This regulation specifi es the requirements for 

the conformity evaluation of the performance features of steel and aluminium structural components 

as well as for the kits which are sold in the market, such as building components.

This certifi cation requires that Edilmatic complies to all dispositions for the evaluation and the 

verifi cation of the constancy of performances of CE-marked products, in the context of the control 

system 2+. This certifi cation allows the production and reselling of the products up to the EXC3 

execution class. 

CE-marked products grant all the performances/characteristics described in the DoP, which is 

released alongside the same product. Edilmatic has the possibility to apply the CE marking following 

the UNI EN 1090-1 with method 1 or 3b.

 

 
Z4

73
16

.16
 

8.0
6.0

1-1
03

/16
 Eur

op
ea

n T
ec

hn
ica

l 

Ass
es

sm
en

t 

 

ETA
-16

/05
60

 

of 
17

 Ju
ly 

20
17

 

 

 
Eng

lis
h t

ran
sla

tio
n p

rep
are

d b
y D

IB
t -

 O
rig

ina
l v

ers
ion

 in
 G

erm
an

 la
ng

ua
ge

 

 
Gen

er
al 

Par
t 

 
Te

ch
nic

al 
Ass

es
sm

en
t B

od
y i

ss
uin

g t
he

 

Euro
pe

an
 T

ec
hn

ica
l A

ss
es

sm
en

t:  

Deu
tsc

he
s I

ns
titu

t fü
r B

au
tec

hn
ik 

Tr
ad

e n
am

e o
f th

e c
on

str
uc

tio
n p

rod
uc

t  

Edil
mati

c a
nc

ho
r c

ha
nn

els
 an

d c
ha

nn
el 

bo
lts

 

 

Prod
uc

t fa
mily

 

to 
whic

h t
he

 co
ns

tru
cti

on
 pr

od
uc

t b
elo

ng
s  

Anc
ho

r c
ha

nn
els

 

 

Man
ufa

ctu
rer

 

EDILM
ATI

C sr
l 

Via 
Gon

za
ga

 11
 

46
02

0 P
EGOGNAGA 

IT
ALIE

N 

 

Man
ufa

ctu
rin

g p
lan

t 

EDILM
ATI

C sr
l 

Via 
Gon

za
ga

 11
 

46
02

0 P
EGOGNAGA 

IT
ALIE

N 
  

  
  

 

Th
is 

Euro
pe

an
 T

ec
hn

ica
l A

ss
es

sm
en

t 

co
nta

ins
 

19
 pa

ge
s i

nc
lud

ing
 3 

an
ne

xe
s w

hic
h f

orm
 an

 in
teg

ral
 pa

rt 

of 
thi

s a
ss

es
sm

en
t 

Th
is 

Euro
pe

an
 T

ec
hn

ica
l A

ss
es

sm
en

t is
 

iss
ue

d i
n a

cc
ord

an
ce

 w
ith

 R
eg

ula
tio

n (
EU) 

No 3
05

/20
11

, o
n t

he
 ba

sis
 of

 

Euro
pe

an
 A

ss
es

sm
en

t D
oc

um
en

t (E
AD) 

33
00

08
-0

2-0
60

1 

 

 

 

 

Z4
73

16
.16

6/0
56

0
17

Ju
ly

20
17

sio
n i

n G
erm

an
 la

ng
ua

ge

he

Deu
tsc

he
s I

ns
titu

t fü
r B

au
tec

hn
ik

on
 pr

od
uc

t 

Edil
mati

c a
nc

ho
r c

ha
nn

els
 an

d c
ha

nn
el 

bo
lt

cti
on

 pr
od

uc
t b

elo
ng

s 

Anc
ho

r c
ha

nn
els

EDILM
ATI

C sr
l

Via 
Gon

za
ga

 11

46
02

0 P
EGOGNAGA

IT
ALIE

N

Man
ufa

ctu
rin

g p
lan

t

EDILM
ATI

C sr
l

Via 
Gon

za
ga

 11

46
02

0 P
EGOGNAGA

IT
ALIE

N

Th
is 

Euro
pe

an
 T

ec
hn

ica
l A

ss
es

sm
en

t

co
nta

ins

19
 pa

ge
s i

nc
lud

ing
 3 

an
ne

xe
s

of 
thi

s a
ss

es
sm

en
t

Th
is 

Euro
pe

an
 T

ec
hn

ica
l A

ss
es

sm
en

t is

iss
ue

d i
n a

cc
ord

an
ce

 w
ith

 R
eg

ula
tio

n (
EU)

No 30
5/2

01
1, 

on
 th

e b
as

is 
of

Euro
pe

an
 A

ss
es

sm
en

t D
oc

33
00

08
-0

2-0
60

1

UNI EN 1090-1:2018

EN 1090

CERTIFICATIONS



HOW IT WORKS?

(1)

(2)
(3) (4)

(5)

(6)

(7)

(8)

(9)

(11)

(10)

During the production phase of the pillar, the anchoring 
plates shall be insert right where the formwork meets 
the face of the pillar. The longitudinal reinforcements will 
be longer than the pillar itself.
During the realisation of the foundations, the corrugated 
tubes must be placed in order to match the reinforce-
ment position, as well as the rebar bolted connection 
must be placed externally to the pillar area in order to 
match the anchoring plates. 
During the installation the pillar must be placed vertically 
on the central support making the reinforcements slide 
into corrugated tubes. Fix the EFT corner elements to 
the anchoring plates and to the rebar bolted connec-
tions, using the joint of the holes to correct possible mi-
salignments.  
The use of the specifi cally designed toothed counterpla-
tes avoids the displacement of the whole system.

Pos. Descrizione

(1) Precast pillar

(2) Foundation

(3) Grouting backfi ll

(4) Central support

(5) Pillar’s reinforcement

(6) Corrugated tubes

(7) Anchoring plate

(8)
Threaded rod 
(foundation anchor)

(9) EFT bracket

(10) Nut

(11) Bolt and counter-plate

The system allows the verticality regulation of the pillar. Once the pillar is fi xed, it is possible 
to remove the crane and pour the concrete backfi ll. Once the concrete is hard, just remove 
the EFT elements and re-use them for the next installation.

5

APPLICATIONS



(d)

(c)

(e)

(f)

(f)

(f)

(h)

(a)

(b)

Pos. n. pcs Application with PZ9 Application with PZ12

(a) 1 Anchoring plate PZ9 Anchoring plate PZ12
(b) 1 EFT bracket EFT bracket
(c) 2 Bolt M20x55 cl. 10.9 Bolt M24x65 cl. 10.9

(d) 2
Toothed counterplate 60x60, 

with Ø26 hole
Toothed counterplate 60x60, 

with Ø26 hole

(e) 1
Toothed counterplate 60x60, 

with Ø30 hole
Toothed counterplate 60x60, 

with Ø30 hole

(f) 3 Nut M24 Nut M24
(g) 1 Washer for M24 Washer for M24

(h) 1
Threader rod M24, 

class 8.8, L = 50 cm
Threader rod M24, 

class 8.8, L = 50 cm

ASSEMBLY

COMPONENTS

(c)

(d)

(g)

6



ANCHORING PLATES

(1)

(2)

(3)

(4)

(1) Concrete steel rebar
(2) Galvanized steel plate
(3) Plastic caps
(4) Adhesive label

250 mm

180 mm

Toothed slotted holes 26x100

COMPONENTS

EFT BRACKET

BOLTS

N° 2 bolts M24x65 class 10.9

N° 2 toothed counterplates 60x60, 
thickness 12, with hole Ø26

For more information, please browse the

“MT BRACKETS” catalogue

N° 1 toothed counterplates 60x60, 
thickness 12, with hole Ø30

N° 2 bolts M20x55 class 10.9

PZ12 PZ9

60

60
12

d.26

60

60
12

d.30

40
0 

m
m

Toothed slotted holes 30x150

7



DESIGN RESISTANCES

To check the connection in the transitory phase of the assem-
bly, the following loads must be taken into account:
- self-weight of the pillar;
- actions due to the out-of-plumb;
- wind actions.
Loads must be combined accordingly to consider the wor-
st-case scenario. 
The central supporting element offers support for the weight 
and shear force. 
The bolted connections are subjected in both directions to 
tensile or compression forces, which produce a balancing 
couple.
The moment acting on the anchoring plates and the ac-

ting force on the foundation bolts must be lower than the 

limit values mentioned in the table below.

DESIGN

Anchorig 

Plate

Allowed 

moment

Distance from the 

edge of the pillar

Allowable 

force

Tightening 

torque

- M
amm

a F
amm

T

- kNm mm kN Nm

PZ9 7,65 130 58,9 200

PZ12 10,20 130 78,5 200

Famm

Mamm

a

pwind

Gpillar

Vout-of-plumb

Fanchor Fanchor

Concrete class during the assembly:
- pillar min. C30/35
- foundation min. C20/25

8



MINIMUM DISTANCES

P
ill

ar
 s

iz
e

25
 c

m
25

 c
m

P
ill

ar
 s

iz
e 

+
 5

0 
cm

Pillar size 25 cm25 cm

Pillar size + 50 cm

It is recommended to leave a portion of 
space free around the pillar to allow the 
work of the operators. 

> 15 cm > 15 cm

>
 1

5 
cm

<
 1

5 
cm

>
 3

5 
cm

13 cm

Minimum distances from the edges that must be prescribed during the project phase are indicated 
in the picture below 

9



POSSIBLE INSTALLATION SCHEMES

Type 1 Type 2

Type 3 Type 4

The following four installation schemes are possible, with either three of four connections per pillar.

Mx = 
k yk

2

ymax

Famm
My = 

k xk
2

xmax

Famm
X

Y

15 cm

13
 c

m

Considering the reference system in this picture, 
the resistance moments can be calculated fol-
lowing these expressions

10



Applications with PZ9

Pillar 
section

(cm)

Axis
Resistance moments at the base (kNm)

Type 1 Type 2 Type 3 Type 4

50x50
Mx 44,7 23,5 47,8 11,8

My 44,7 89,4 47,8 67,1

60x60
Mx 50,6 35,3 56,8 17,7

My 50,6 101,2 56,8 75,9

70x70
Mx 56,5 47,1 66,3 23,5

My 56,5 113,0 66,3 84,7

80x80
Mx 62,4 58,8 76,3 29,4

My 62,4 124,8 76,3 93,6

90x90
Mx 68,3 70,6 86,5 35,3

My 68,3 136,5 86,5 102,4

100x100
Mx 74,1 82,4 97,0 41,2

My 74,1 148,3 97,0 111,2

Applications with PZ12

Pillar 
section

(cm)

Axis
Resistance moments at the base (kNm)

Type 1 Type 2 Type 3 Type 4

50x50
Mx - - 63,8 15,7

My - - 63,8 89,4

60x60
Mx - - 75,5 23,5

My - - 75,5 101,2

70x70
Mx 75,3 62,8 88,4 31,4

My 75,3 150,6 88,4 113,0

80x80
Mx 83,2 78,5 101,7 39,2

My 83,2 166,3 101,7 124,8

90x90
Mx 91,0 94,2 115,4 47,1

My 91,0 182,0 115,4 136,5

100x100
Mx 98,9 109,8 129,4 54,9

My 98,9 197,7 129,4 148,3

DESIGN RESISTANCES

The resistance moments resulting from the different assembly schemes are reported here below. 

11



notes

12



notes

13



notes

14



notes

15



16

All the information and data provided in this document are based on the present available knowledge.
Edilmatic is not liable for any incorrect use of its products.
Edilmatic is not liable for possible incorrect information or printing mistekes.
Edilmatic reserves itself the right to change images, descriptions and technical information any time.

Anchorage, supporting and lifting systems 
for prefabricated elements. Structural and 
anti-seismic connections. 

EDILMATIC S.P.A.
Sede e Stabilimento: Via Gonzaga, 11
46020 Pegognaga (MN) Italy
tel. +39-0376-558225 - fax +39-0376-558672
E-mail: info@edilmatic.it - internet: www.edilmatic.it

Edilmatic QR Code

ACCREDITATO
INSERTI QUALITAÊ


